
x 2B

x 2D

x 2F

A x 2

x 2C

x 2E x 1G x 1H x 4I

ASSEMBLY INSTRUCTION

01/06



B

C2

4

6

Step 1 70%

1 x 4 x 162

x 83

Bolt M6x25Bolt M6x45

Bolt M6x15 Large Washer M6
x 204

Small Washer M6
x 85

Plastic Washer M6
x 126

Allen key M4
x 37

x 2

x3

ASSEMBLY INSTRUCTION

02/06



D

1

4

2

4
A

2

4
2

4

6

Step 2
70%

Step 3
70%

x2

x1 x1

x3

ASSEMBLY INSTRUCTION

03/06



F

E

Step 4
100%

Step 5

x2
x6

x2

Assemble the first Chair
Then assemble the second one.

ASSEMBLY INSTRUCTION

04/06



H

I

3

5

G

3

5

Step 6
70%

Step 7
70%

x4

x4

x 1

ASSEMBLY INSTRUCTION

05/06



Step 8
100%

Step 9

x4

x4

ASSEMBLY INSTRUCTION

06/06


	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12

	Sheet2
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View17
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View26
	Drawing View28
	Drawing View29
	Detail View A (1 : 3)
	Drawing View80
	Drawing View81

	Sheet2(2)
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View46
	Detail View B (1 : 3)
	Detail View C (1 : 3)
	Drawing View49
	Detail View D (1 : 3)
	Detail View E (1 : 3)

	Sheet2(2)(2)
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View58
	Detail View F (1 : 3)
	Detail View G (1 : 3)
	Detail View H (1 : 3)
	Drawing View62

	Sheet2(2)(2)(2)
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View63
	Drawing View64
	Detail View I (1 : 2)
	Drawing View66
	Detail View J (1 : 2)

	Sheet2(2)(2)(2)(2)
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View75
	Detail View K (1 : 2)
	Drawing View77
	Detail View M (1 : 2)


